Kuta Software - Infinite Algebra 1

Adding and Subtracting Polynomials

Simplify each expression.

1) (5p*=3)+@2p*-3p?)

3) (4+21°)+(5n’ +2)

5) Ba*+1)— (4 +2d%)

7) (Sa+4)—(5a+3)

9) (—4k* + 14 + 3k%) + (-3k* — 14k* - 8)

11) (124° = 6a — 10a®) = (10a - 24° — 14a%)

13) (=x*+13x° + 6x°) + (6x° + 5x° + 7x%)

15) (13n* + 11n - 2n* + (=130 = 3n — 6n%)

17) (7-13x° = 11x) — 2x° + 8 — 4x°)

Name

Date Period

2) (@’ —2a%) - (3a* - 4d?)

4) (4n - 3n°) — (3n> + 4n)

6) (4r’+3rY) — (" =517

8) (3x*—3x)— (3x - 3xh

10) (3 —6n° — 8n*) — (—=6n* — 3n — 8n°)

12) (8n—3n*+10n*) — Bn*+ 11n* = 7)

14) 97 +572 + 117 + (=21 + 9r — 87%)

16) (=7x° + 14 = 2x) + (10x* + 7x + 5x°)

18) (13a® - 6a° = 2a) — (-10a*> — 11a° + 9a)



19) (3v° +8v> — 10v?) — (-12v° + 4v° + 141?) 20) (8h> =6+ 3b* = (b*=7b - 3)

21) (k* =3 =3k + (-5k* + 6k — 8k°) 22) (—10k* + Tk + 6k*) + (=14 — 4k* — 14k)

23) (<7Tn*+8n—4) — (~11n+2 — 14n?) 24) (14p*+11p* - 9p°) — (14 +5p° — 11p?)

25) (8k + k> — 6) — (—10k + 7 — 2k?)

26) (—9v* = 8u) + (—2uv — 2u* +v?) + (=v* + 4uv)

27) (4x* +7x°y?) — (—6x* — Tx*y?* — 4x) — (10x + 9x?)

28) (=5uv* + 9u) + (=5u’v* — 8u + 8utv?) + (-8u*v? + 8u’v?)

29) (-9xy° —9x*y?) + Bxy® + 7y* — 8xHyh) + Bx*Y’ + 20pY)

30) (y° = 7xYyh + (=10x*y? + 6% + 4x*yh) — (xYy? + 6x%yY



Kuta Software - Infinite Algebra 1
Adding and Subtracting Polynomials
Simplify each expression.

1) (Sp*=3)+@2p*-3p?)
“3p*+7p* -3

3) (4+21°)+(5n’ +2)

n’ +6

5) (Ba*+1)— (4 +2d%)

a’ -3

7) (Sa+4)—(5a+3)
1

9) (—4k* + 14 + 3k%) + (-=3k* — 14k*> - 8)
~7k* —11k* + 6

11) (124° - 6a — 10a®) = (10a - 24° — 14a%)
14a° + 14a* — 104> - 16a

13) (=x*+13x° + 6x°) + (6> + 5x° + 7x%)

18x° + 6x* + 1243

15) (13n* + 11n - 2n* + (=130 = 3n — 6n%)

—8n* + 8n

17) (7-13x° = 11x) — 2x° + 8 — 4x°)
4x° —15x° - 11x—1

Name

Date Period

2) (@’ —2a%) - (3a* - 4a?)

5a° — 5a°

4) (4n—3n°) — (3n° + 4n)

—6n°

6) (4r° +3rY) — (r* =51

2r* + 953

8) (3x*—3x)— (3x—3x%
6x* — 6x

10) (3 —6n° — 8n*) — (—=6n* — 3n — 8n°)

2n° = 2n*+3n+3

12) (8n—3n*+10n*) — Bn*+11n* = 7)

—14n* + > +8n+7

14) 97 +572 + 117 + (21> + 9r — 87%)
7r3 = 3r% + 20r

16) (=7x° + 14 — 2x) + (10x* + 7x + 5x°)

2x°+10x*+5x+ 14

18) (13a” — 6a° — 2a) — (-10a*> - 114° + 9a)
5a° +23a> - 11a



19) (3v° +8v> — 10v?) — (-12v° + 4v° + 141?) 20) (8b° -6+ 3b* — (b*—7b° - 3)

15v° + 4v° — 2407 2b* +15p° - 3

21) (k* =3 =3k + (-5k* + 6k — 8k°) 22) (-10k* + Tk + 6k*) + (=14 — 4k* — 14k)
—8k> — 4k* + 3k> - 3 2k — 10k = Tk — 14

23) (-7n* +8n—4) — (-11n+2 — 14n?) 24) (14p*+11p* - 9p°) — (14 +5p° — 11p?)
Tn*+19n -6 ~14p° +14p* +22p* + 14

25) (8k + k> — 6) — (—10k + 7 — 2k?)
3k*+ 18k —13

26) (—9v* = 8u) + (—2uv — 2u* +v?) + (=v* + 4uv)

~9v* + 2uv — 2u* — Su

27) (4x* +7x°y?) — (—6x% — Tx*y?* — 4x) — (10x + 9x?)

14x°y? + x* — 6x

28) (—=5u’v* + 9u) + (=5u’v* — 8u + 8utv?) + (-8u*v? + 8u’v?)

3.4 4.2 2.2
2uv —8uv +8u v +u

29) (-9xy° —9x*y?) + Bxy® + 7y* — 8xHyh) + Bx*Y’ + 200Y)

—8x*y* — 6x*y? + 7y — 4xy’

30) (y° —7x%yh + (=10x*y? + 6% + 4x*yh) — (xYy? + 6x%yY

—Ox*y* —11x%y° + 7y’



